LOS ANGELES AREA	CERT	IFICATE	OF ORI	GIN ORIGINAL		
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number : LA-COO-51009-66c7825c03cdd VERIFY.FTGS.US Date : August 22, 2024					
Seller (Exporter) ORLY INTERNATIONAL 7710 Haskell Avenue	Transport Type Air			Port of Loading Los Angeles		
Los Angeles California 91406 United States	Destination C Kuwait	ountry	Destination Salmiya	Destination Port Salmiya		
Consignee	Export Date		Exporting Ca	Exporting Carrier ********		
ORLY INTERNATIONAL, INC 7710 HASKELL AVE VAN NUYS, CA 91406 United States	Import Permit Number		Bill of Ladin	Bill of Lading / AWB ***********		
	Owner or Agent			Forwarding Agent		
Buyer (Importer) DISTRICT GENERAL TRADING & CONTRACTING CO HAMAD AL MUBARAK STREET SALMIYA, BLOCK 9 ZIP CODE 22100 Kuwait	Remarks					
Description (May include notes on Quantity, Item Number, Marks and Numbers, k	Kind of Packages	s.)	Weight	Country of Origin		
Nail Polish H.S.Code: 3304.30.0000			286.0 KG	United States		
CERTIFICATE OF O Accredited Chamber						
ZORID CHAMBERS FEDER	ATION					
	mber US2100201	 The above-mentioned goods origin origin applicable in the country(ies). The information in this certificate or Commerce ("LAACC") is accurate, ti -The Applicant undertakes to advis Certificate (or to whom the Certificate of any inaccuracy, omission or chait -The Applicant will maintain, and pr truth, accuracy and completeness of -In consideration for the LAACC's is 	nate in the country(ies) spec to those goods. and in any documents provir rue and complete. e LAACC and any other pers ate is provided to with the king nge in such information, or i esent upon request, such di of this certificate and accon isuance of this Certificate, ti vility in connection with the i or claims made against LA	ocumentation as is necessary to verify the ppanying documents. ne Applicant agrees to release, discharge and ssuance of this certificate and to indemnify ACC in connection herewith.		

$\mathbf{P}\mathbf{I}$

Credit Terms: N90

ORLY International 7710 Haskell Avenue Los Angeles, California 91406 USA 800 275 1111 • 818 994 1001 • F 818 994 1144 orlybeauty.com

> Sold-To: District General Trading & Contracting Co. Hamad Al Mubarak Street Salmiya, Block-9 Kuwait ZIP Code: 22100

COMMERCIAL INVOICE HAZARDOUS

Page 1 of 1

INVOICE NO .: SO336008 Date: 7/24/2024 Country of Origin: United States

Ship-To: District General Trading & Contracting Co. Hamad Al Mubarak Street Salmiya, Block-9 Kuwait ZIP Code: 22100

Attention: Mohammad Khalaik Telephone: 818-994-1001 Purchase Order(s): JUNE 2024 TERRA NOVA 18ML Ship Via: AIR Freight Terms: Ex Works

Resale Remarks	2:	Ship Via: AIR Freight Terms: Ex Works				
Ln Item Nbr	Description	Qty UM	Net Pr	Ext Price	Country	HS Code
1 2000334	ORLY LAQ .6fl oz/18ml STARLIT SHALE	216 EA	2.3625	510.30	US	3304.30.0000
2 2000335	ORLY LAQ .6fl oz/18ml BEDROCK BLOOM	216 EA	2.3625	510.30	US	3304.30.0000
3 2000336	ORLY LAQ .6fl oz/18ml EARTHFIRE	216 EA	2.3625	510.30	US	3304.30.0000
4 2000337	ORLY LAQ .6fl oz/18ml GILDED DUNE	216 EA	2.3625	510.30	US	3304.30.0000
5 2000338	ORLY LAQ .6fl oz/18ml SKYSTONE	216 EA	2.3625	510.30	US	3304.30.0000
6 2000339	ORLY LAQ .6fl oz/18ml RUSTIC ROOT	216 EA	2.3625	510.30	US	3304.30.0000
7 3010334	GEL FX .6fl oz/18ml STARLIT SHALE	72 EA	5.97	429.84	US	3304.30.0000
8 3010335	GEL FX .6fl oz/18ml BEDROCK BLOOM	72 EA	5.97	429.84	US	3304.30.0000
9 3010336	GEL FX .6fl oz/18ml EARTHFIRE	72 EA	5.97	429.84	US	3304.30.0000
10 3010337	GEL FX .6fl oz/18ml GILDED DUNE	72 EA	5.97	429.84	US	3304.30.0000
11 3010338	GEL FX .6fl oz/18ml SKYSTONE	72 EA	5.97	429.84	US	3304.30.0000
12 3010339	GEL FX .6fl oz/18ml RUSTIC ROOT	72 EA	5.97	429.84	US	3304.30.0000





8 . Currency: USD

.

Line Total 5,640.84 TOTAL INVOICE 5,640.84

ORLY International 7/10 Haskell Avanue Los Angeles, California 91406 USA 800 275 III + BB 994 1001 + F BIB 994 1144 orlybeauty.com

Credit Terms: N90 Resale:

Remarks:

Sold-To: District General Trading & Contracting Co. Hamad Al Mubarak Street Salmiya, Block-9 Kuwait ZIP Code: 22100

COMMERCIAL INVOICE HAZARDOUS

Page 1 of 1

INVOICE NO.: SO336000 Date: 7/24/2024 Country of Origin: United States

Ship-To: District General Trading & Contracting Co. Hamad Al Mubarak Street Salmiya, Block-9 Kuwait ZIP Code: 22100

Attention: Mohammad Khalaik Telephone: 818-994-1001 Purchase Order(s): JUNE 2024 LOOSE THREADS 11ML Ship Via: AIR Freight Terms: Ex Works

Ln Item Nbr	Description	Qty UM	Net Pr	Ext Price	Country	HS Code
1 2060102	ORLY BREATHABLE .6fl oz /18ml LEATHER YOU LIKE IT OR NOT	264 EA	2.97	784.08	US	3304.30.0000
2 2060103	ORLY BREATHABLE .6fl oz /18ml NOW OR BOUCLÉ-TER	264 EA	2.97	784.08	US	3304.30.0000
3 2060104	ORLY BREATHABLE .6fl oz /18ml I'M EASILY SUEDE	264 EA	2.97	784.08	US	3304.30.0000
4 2060105	ORLY BREATHABLE .6fl oz /18ml FLEECE TO MEET YOU	264 EA	2.97	784.08	US	3304.30.0000
5 2060106	ORLY BREATHABLE .6fl oz /18ml WE FLANNEL-LY MADE IT	264 EA	2.97	784.08	US	3304.30.0000
6 2060107	ORLY BREATHABLE .6fl oz /18ml YEAH, FOR SHERPA	264 EA	2.97	784.08	US	3304.30.0000

Currency: USD







15

TOTAL INVOICE 4,704.48

Line Total 4,704.48

ORLY International 7710 Haskell Avenue Los Angeles, California 91406 USA 800 275 1111 • B18 994 1001 • F 818 994 1144 orlybeauty.com

HAMAD AL MUBARAK STREET

SALMIYA, BLOCK -9

KUWAIT ZIP CODE 22100

DISTRICT GENERAL TRADING & CONTRACTIONCO

Sold-To:

EXPORT PACKING LIST

Page 1 of 1

INVOICE NO.: SO336008,SO336000 Date: 7/24/2024

Ship-To: DISTRICT GENERAL TRADING & CONTRACTIONCO HAMAD AL MUBARAK STREET SALMIYA, BLOCK -9 ZIP CODE 22100

KUWAIT

Attention: Mohammad Khalaik Telephone: 971581073932 Credit Terms: N90 Purchase Order(s): JUNE 2024 TERRA NOVA 18ML Resale: Ship Via: AIR Remarks: Freight Terms: Ex Works SO336008 HAZARDOUS Ln Item Nbr CTN# PLT# Description Qty UM 1 2000334 ORLY LAQ .6fl oz/18ml STARLIT SHALE 216 EA 1.2. 1 2 2000335 ORLY LAQ .6fl oz/18ml BEDROCK BLOOM 2.3. 1 216 EA 3 2000336 ORLY LAQ .6fl oz/18ml EARTHFIRE 216 EA 4.5. 1 4 2000337 ORLY LAQ .6fl oz/18ml GILDED DUNE 216 EA 5.6. 1 5 2000338 ORLY LAQ .6fl oz/18ml SKYSTONE 216 EA 7.8. 1 6 2000339 ORLY LAQ .6fl oz/18ml RUSTIC ROOT 216 EA 8.9. 1 7 3010334 GEL FX .6fl oz/18ml STARLIT SHALE 72 EA 10 1 10 8 3010335 GEL FX .6fl oz/18ml BEDROCK BLOOM 72 EA 1 9 3010336 GEL FX .6fl oz/18ml EARTHFIRE 11 72 EA 1 10 3010337 GEL FX .6fl oz/18ml GILDED DUNE 72 EA 11 1 11 3010338 GEL FX .6fl oz/18ml SKYSTONE 72 EA 12 1 12 3010339 GEL FX .6fl oz/18ml RUSTIC ROOT 72 EA 12 1

SO336000 HAZARDOUS				
Ln Item Nbr	Description	Qty UM	CTN#	PLT#
1 2060102	ORLY BREATHABLE .6fl oz /18ml LEATHER YOU LIK	264 EA	13.14.23	1
2 2060103	ORLY BREATHABLE .6fl oz /18ml NOW OR BOUCLÉ-	264 EA	14.15.16.23	1
3 2060104	ORLY BREATHABLE .6fl oz /18ml I'M EASILY SUEDE	264 EA	16.17.18.23	1
4 2060105	ORLY BREATHABLE .6fl oz /18ml FLEECE TO MEET	264 EA	18.19.23.	1
5 2060106	ORLY BREATHABLE .6fl oz /18ml WE FLANNEL-LY N	264 EA	20.21.23.	1
6 2060107	ORLY BREATHABLE .6fl oz /18ml YEAH, FOR SHERF	264 EA	21.22.23.	1





